LMY RIRERSTREAIERR (TEB)

SHMIE1A18~18318
B 4 Gy/h= u Sv/h (31905 L4 /BB = 4900 —~")Lb/BERE)
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1R1B0K) 158% ARG AR AR 0.02 0.04 ARG 0.02 ARG 0.02 AR
1H2B(K) 158F Bikaday Eokadas Bikedy 0.03 0.04 Bikedy 0.02 Bikedy 0.02 Bikedy
1A3EE®) 158F Bikaday Eokadas Bikedy 0.02 Bikedy Bikedy 0.02 Bikedy 0.02 Bikedy
1H48(1) 158F Bikaday Bikadas Bikedy 0.02 Bikedy Bikedy 0.02 Bikedy 0.02 Bikedy
1A5E(R) 158F Eikaday Bikades Bikedy 0.02 Bikedy 0.03 0.03 Bikedy 0.02 Bikedy
1A6BE(A) 158% 0.03 0.03 0.04 0.02 0.04 0.03 0.03 AR 0.03 FEF
1R7E(X) 158% 0.03 0.03 0.04 0.02 0.04 0.03 0.03 AR 0.02 FEF
1A8BE(K) 158% 0.03 0.03 0.04 AR 0.05 AR 0.04 AR 0.03 FEF
1R9B(K) 158% 0.02 0.03 0.04 AR 0.04 AR 0.02 AR 0.02 FEF
1A10B(R) | 158% 0.03 0.03 0.04 AR 0.04 ARG 0.03 ARG 0.03 AR
1TA1E(L) | 1568% 0.02 0.02 0.04 AR 0.04 AR 0.02 AR 0.02 FEF
1A128(8) 150 0.02 0.02 0.03 % 0.04 % 0.02 A% 0.02 A%
1A138(A) 150 0.03 0.02 0.04 R Eokadas Bikedy 0.02 Bikedy 0.02 Bikdy
1TA1480) 150 0.02 0.03 0.04 R Eokadas Bikedy 0.02 Bikedy 0.02 Bikdy
1A1580K) 150 0.03 0.04 0.04 R Eokadas Bikedy 0.02 Bikedy 0.03 Bikdy
1A16A(K) 150 0.02 0.02 0.04 R Eokadas Bikedy 0.02 Bikedey 0.02 Bikedy
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1A17TE(®) | 158% 0.02 0.02 0.03 AR G Bkl 0.02 0.02 0.02 AR
1A18A(L) 150 0.02 Bikedy 0.04 Bikedy Bikedy Bikedy 0.02 0.02 TR R
1R198(R) 150 0.02 Bikedy 0.04 Bikedy Bikedy 0.03 0.02 0.02 TR Bikadey
18208(A) 1505 0.02 Bikedy 0.04 0.02 Bikedy 0.03 0.02 0.03 % Eokadey
1A218CK) | 158% 0.02 G 0.04 0.02 0.04 0.03 0.02 0.02 AR FEF
1H2280K) 158% Eikaay TR 0.04 0.02 0.04 0.03 0.02 0.02 R Eokadey
1H238(K) 158% Eokadas TR 0.04 0.02 0.04 0.03 0.02 0.02 R Eokadey
1H248(%) 158F Eokadas TR 0.04 0.02 0.04 0.03 0.02 0.03 R Eokadey
1A258(1) 158F Eokadas R 0.04 0.02 0.04 0.03 0.02 0.03 R Eokadey
1A268(H) | 158% Bekales AR 0.04 0.02 0.04 0.03 0.02 0.02 AR AR
1A278(A) 156F Bikedy % 0.04 0.02 0.04 0.03 0.02 0.03 0.02 Bikedy
1A28ACK) | 158% Bekales AR 0.04 0.02 0.05 0.03 0.03 0.03 0.02 Bekales
1A2980K) | 156% 0.05 0.05 0.06 0.04 0.07 0.05 0.05 0.05 0.04 AR
1AS0A(KR) | 158% 0.03 0.02 0.04 0.03 0.04 0.03 0.02 0.02 0.02 AR
1A3IE(®) | 1568% 0.02 0.02 0.04 0.02 0.04 AR 0.02 0.02 0.02 Bkl




SiEMA RERSTEERERER (EEE) SHMIE1A18~18318
B 4 Gy/h= u Sv/h (31905 L4 /BB = 4900 —~")Lb/BERE)

ms | seas | PR | wom |msmmms| uv—to | mm  (FERTER) gpon

AEBE | AERg | REXFH | Xifitys— aEEE =C&F WAEXm =1 AEx—i5 o e /NES

[BEESE) [EESE) [EESE) [EESE) [BEESE) [EESE) [EESE) [EESE) [EESEd)
BEE—REREM,MD [ii] i)l i) i) i) [ii] i) i) [ii]

H A R U Rt #3133km #3138km #3129km #3120km #3138km #3125km #3144km #3131km #3114km
1R1B0K) 150F FREEH FREEH FREEH FREEH FEH 0.02 0.02 0.02 0.02
1H28(K) 156F T T FREEH 0.02 FREEH 0.02 0.03 0.02 0.03
1A3AE) 156F FREEH 0.02 FREEH 0.02 FREEH FREEH 0.03 0.02 0.02
1R48(L) 156F FREEH 0.02 FREEH T FREEH FREEH 0.03 0.02 0.02
1A58(H) 156F FREEH 0.02 FREEH T FREEH FREEH 0.03 0.02 0.02
1H6H(A) 156F FREEH 0.02 FREEH 0.02 FREEH FREEH 0.03 0.02 0.03
1R78) 156F FREEH 0.02 FREEH T FREEH FREEH 0.03 0.02 0.02
1R8H(K) 150F 0.04 FREEH FREEH FREEH 0.06 0.02 0.03 0.03 0.03
1A9B(K) 150% 0.03 0.03 0.03 FREEH 0.06 0.02 0.03 0.02 0.03
1A108(®) | 158% 0.04 ARG 0.03 0.04 0.06 0.03 0.04 0.03 0.04
1A11B(L) 150% 0.02 FREEH 0.02 FREEH 0.04 0.02 0.02 0.01 0.02
1A128(R) | 158% 0.03 ARG 0.02 0.02 0.05 0.02 0.02 0.01 0.02
1R138(A) 150% 0.02 0.02 FREEH 0.02 0.05 0.02 0.02 FREEH 0.02
1TA1480K) | 158F 0.03 G Az 0.02 0.05 0.02 0.03 G 0.02
1A15A0K) | 158% 0.03 G Az 0.02 0.05 0.02 0.03 G 0.04
1B16A(K) 150F 0.02 FREEH FREEH FREEH 0.05 0.02 FEEH FREEH 0.02




SiEMA RERSTEERERER (EEE) SHMIE1A18~18318
B 4 Gy/h= u Sv/h (31905 L4 /BB = 4900 —~")Lb/BERE)

ms | seas | PR | wom |msmmms| uv—to | mm  (FERTER) gpon
AEBE | AERg | REXFH | Xifitys— aEEE =C&F WAEXm =1 AEx—i5 o e /NES
[BEESE) [EESE) [EESE) [EESE) [BEESE) [EESE) [EESE) [EESE) [EESEd)

BEE—REREM,MD [ii] i)l i) i) i) [ii] i) i) [ii]

H A R U Rt #3133km #3138km #3129km #3120km #3138km #3125km #3144km #3131km #3114km
1R178(®) 150F 0.02 FREEH FREEH FREEH 0.04 0.02 FREEH T 0.02
1818A(L) 158F T T T FREEH FREEH 0.02 FREEH FREEH 0.02
1819R(R) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH FREEH 0.02
1820R(A) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH 0.01 0.02
182180K) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH 0.01 0.02
1822R80K) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH 0.01 0.02
1823A(K) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH 0.01 0.02
1R24B(%) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH 0.01 0.02
1825R(1) 156F FREEH 0.02 FREEH 0.02 FREEH 0.02 FREEH 0.01 0.02
1A268(R) | 158% AEch 0.02 ARG 0.02 ARG 0.02 ARG 0.01 0.02
1A278(A) | 158% 0.03 0.02 0.02 0.02 0.06 0.02 0.02 001 0.02
1A28R(K) | 158F 0.03 0.02 0.02 0.02 0.06 0.02 0.02 0.02 0.03
1A2980K) | 158% 0.05 0.04 0.04 0.04 0.07 0.03 0.05 0.03 0.05
1A308(R) 150% 0.03 0.02 0.02 FREEH 0.05 0.02 0.02 0.02 0.03
1A31A(®) | 158% 0.02 0.02 0.02 0.02 0.05 0.02 0.02 0.02 0.02




